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MEMPHIS GARDEROBENSCHRANK 02

A

XXXXXXXXXX

serie: Xxx

Hergestellt fur:
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=1F—=0
B=l— 0 =)

192cm

o= [=0 |
N\




A31

AO3

A0S

A21

A41

A45L

A81

A11

AQ2

A32

A04

A43

A22

A12

A83

A12

A82

A12

Ad44

L
A42| | Ad6L

A B (mm)| C (mm) | D (mm) E F
A01 1052 358 16 1 113
A02 1052 380 22 1 113
AO03 1860 358 16 1 2|3
A04 1860 358 16 1 2|3
A05 1860 338 16 1 2|3
A11 626 328 16 1 113
A12 376 328 16 4 113
A21 626 338 16 1 113
A22 376 338 16 1 113
A31 1870 639 3 1 2|3
A32 1870 389 3 1 2|3
A41 396 998 18 1 3|3
A42 396 868 18 1 3|3
A43 396 998 18 1 3|3
Ad4 396 868 18 1 3|3
998 246 16 1 3|3
A4SL 996 244 4 1 3|3
852 246 16 1 3|3
AdeL 850 244 4 1 3|3
A81 378 82 16 1 3|3
A82 236 82 16 1 3|3
A83 370 82 16 1 313
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192cm
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MEMPHIS SCHUHSCHRANK 10 3B A1GH10

150 min

( XXXXXXXXXX ) A
............ serie: Xxx
)
Hergestellt fur:
s [~ \ /
L}
|
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=H—=0
EBi— 0 ==

—— ===

107cm




AQ2

A30
: A60
A10 N
\ < . A04
N —
AO3 7
//
a0l /f AdZ
— «
A -7
=
L=
A0 A01
A41
AT1| |AD1 WQ6
WQ5
AS1
A B (mm) [ C (mm)| D (mm) E F
A01 802 358 16 1 1]2
A02 802 380 22 1 1]2
A03 1008 358 16 1 2|2
A04 1008 358 16 1 2|2
A10 768 318 16 3 1]2
A30 1018 778 3 1 2|2
Ad1 396 858 18 1 2|2
A42 396 842 18 1 2|2
A60 768 60 16 1 1]2
AD1 738 303 3 1 1]2
AS1 796 156 18 1 1]2
AT1 728 81 16 1 1]2
WQ5 300 96 12 1 2|2
WQ6 300 96 12 1 2|2
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MEMPHIS GARDEROBENPANEEL

3B A1GH40

( XXXXXXXXXX ) A

............ serie: Xxx




=

EF——c0

=) [ =0 |

117cm




N10

NO1

NO2

NO3

||
E

A B (mm)| C (imm)]| D (mm) E F
NO1 802 848 18 1 111
NO2 798 168 16 1 111
NO3 802 160 18 1 111
N10 /82 280 22 1 111
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OPTION
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MEMPHIS SPIEGEL 50 3B A1GH50
( XXXXXXXXXX ) A
............ serie: Xxx =




2cm
A\
O
|
N
-
(@)
S
NO1L
A 1B (@mm)] C (mm)]| D (mm) E F
700 800 16 1 111
NOTL 760 660 4 1 111










MEMPHIS BANK 60 3B A1GHG60

XXXXXXXXXX ) A
............ serie: Xxx

120 min
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A10
AO5 AO2 A30
- [A04
A30
AO3 N A43
A10
Ad4
A80
280 A41
A42
A B (mm)| C (mm)| D (mm) E F B
A01 802 358 16 1 111 A
A02 802 380 22 1 111
A03 370 358 16 1 111
A04 370 358 16 1 1)1
AQ5 370 338 16 1 1)1 =
A10 376 318 16 2 111 F
A30 380 389 3 2 11
A41 396 188 18 1 1)1
A42 396 188 18 1 111
A43 396 188 18 1 111
Ad4 396 188 18 1 1)1
A80 370 82 16 2 1)1
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